Sipdwr DD FieE wened parod b e
ol g sk s b o e b E ey o ﬁ El"ﬂ rl":l"

s Joo step problems
=1
= Thee Pes Shop

1. The Fet Smop had 15 rabbibs.
B woere sold and 5 were becaghe
How many rabbics did the shop now have?

2. The Fer Shop heed 290 gerbids
The gerkdls Rad 12 babies. 8 of the gerbils weere sold

Hauows imany gerbiks did 1hs :Jl.u-p-n.n-u T Eer ey
H. The Fet Shop had 16 bud

It sodd 12 and then boaghs 35
How many besdgies did che shop s beave®
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4., There were F5 planes at the ainpon.
15 e planses landed omed 9 cook off.
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5. Thire were b possemgers on a @t to Paris
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Florss mensey passeErsgers were nus o thee et?
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